
Part Type Width Thickness

Total Length 
rounded up

Cut List Ordered Vendor Price Arrived
Order 
Verified Modified Notes

 Frame, support (Order 1) Angle 2" ¼" 240" ordered 
total. 42" left

[3] 29", [2] 27", [2] 24", [1] 8" 9/19/2011
Access Metals $68.90

9/19/2011 y x Shop cut to 6' & 2x7'
 Frame, support (Order 1 Remainder) Angle 2" ¼" [1] 29", [2] 4 3/4" 9/19/2011 9/19/2011 y
 Frame, support (Order 2) Angle 2" ¼" 150" == 12.5' [1] 29", [2] 27", [2] 24" 9/28/2011

Access Metals $91.38

9/29/2011 y o Cut by the shop
 Hydraulic reservoir Plate 6" ¼" 24" [2] 12" 9/28/2011 9/29/2011 y o Cut by the shop
Engine mount, gas tank Plate 8" ¼" 38" [1] 12", [1] 9", [1] 8", [2] 4" 9/28/2011 9/29/2011 y o Cut by the shop
Hydraulic reservoir Tube 6” x 12” ¼” 27 ½” [1] 27 ½” 9/28/2011 Access Metals $159.00 11/8/2011
 Key switches, choke Angle 2” 1/8” 6” [3] 2"
 Oil cooler mount, Battery mount Plate 2” ¼” 120” [1] 24", [2] 22", [2] 24", [2] 5/8"
Quick attach Plate 4” 3/8” 54” [2] 27"
Gas tank Tube 4” x 8” ¼” 14 ½” [1] 14 ½" Gift

$0.00
5/5/2012

Gasoline filler cap Tube 1 3/8" ID 1/4" 2" [1] 2" Gift 5/5/2012
Section strainer extension Tube 2 1/2” ID 1/4” 2” [1] 2" 11/8/2011 Access Metals $7.42 11/8/2011 y
Galvanized  Muffler Pipe Tube 1 9/16” 1/8” 12” [2] 6"
 Galvanized Muffler Pipe Tube 6 cm 1/8” 14” [2] 7"
Oil Cooler Grill Expanded Steel 13 Gauge 12" 22" 22"

Total Steel $: $326.70



Name Qty Dimensions Manufacturer / Retailer Part No. Price S&H Arrived Modified Notes
Brigs & Stratton 28 HP Engine 1 28 HP SmallEngineSuppliers.com49M777 $699.95 $60.93 11/8/2011 Invoice Number: 1319422452

Solid Shaft Coupling 1
5/8" to 1 1/8" 

Sweiger Shop, Inc. ???
0.976 cu in Prince Hydraulic Pump 1 12.11 GPM SurplusCenter.com 9-1788-B $187.95

$16.20 11/7/2011

14 GPM Hydraulic Tank Strainer 1 1 1/2" NPTM to 1" NPTF SurplusCenter.com 9-7290-100 $19.95
3/4" Quick Coupler S40-6 F/F 1 ¾” SurplusCenter.com 928-C $25.95
1" Hose Barb to SAE 12M Adapter 1 1” Hose x 1” SAE SurplusCenter.com 9-4604-16-12 $7.89
1" Hose Barb to 1" NPTM Adapter 1 1" x 1" NPTM SurplusCenter.com 9-4404-16-16 $6.00
1" HYD Suction/Return Hose 

3 3' SurplusCenter.com 9-1279 $15.00
SAE 10M x 3/4" NPTF Adapter 1 10M to 3/4" NPTF SurplusCenter.com 9-6405-10-12 $5.15 Not in OSE BOM as of 11/8/2011 - Message sent to Tom
3/4" NPT PLASTIC TANK BREATHER 1 3/4" SurplusCenter.com 9-7957-12 $4.49
3/4" NPT HEX NIPPLE 3 3/4" SurplusCenter.com 9-5404-12-12 $2.65
NPT Weld-In Tank Flange 1 1 1/2” NPTF monumentalsupply.com 9-7843-24 $7.18

$0.00 11/8/2011
NPT Weld-In Tank Flange 2 3/4" NPTF monumentalsupply.com 9-7843-12 $10.66
NPT Weld-In Tank Flange 1 1/4” NPTF monumentalsupply.com 9-7843-4 $4.76
3/4" NPTF Return Filter & Head 1 20 GPM SurplusCenter.com 9-059
3/4" NPTM TO 1" NPTF ADAPTER 1 1” x ¾” SurplusCenter.com 9-5405-12-16
3/4" NPTM TO 3/4" NPTM 90 Elbow 3 ¾” SurplusCenter.com 9-5500-12-12
1/4" NPT Quick Coupler S40-2 1 1/4" SurplusCenter.com 9-6314

Hose Barb 1/4" X 1/4" NPTM 1
¼" NPTM x 1/4"

SurplusCenter.com 455-AA
JIC 12F X JIC 12F 3000 PSI HYD HOSE 1 3/4" X 12" SurplusCenter.com 951-2212
Hydraulic Oil Cooler 1 14” x 14 ½” SurplusCenter.com 9-9232
3/4" X 3/4" X 3/4" NPTF TEE 3/4" x 3/4" x 3/4" SurplusCenter.com 9-5605-12-12-12
JIC 12M x 3/4" NPTM 90 ELBOW 1 3/4" SurplusCenter.com 9-2501-12-12
JIC 12M x JIC 12M UNION 1 JIC 12M SurplusCenter.com 9-2403-12-12
JIC 12F TO 3/4" NPTM SWIVEL 1 3/4" SurplusCenter.com 9-6505-12-12
Solenoid 1 SurplusCenter.com 11-1108
Battery 1 5" x 7.5" x 7.5" Walmart  UIP-7
Galvanized Elbow 2 1” Home Depot 510-003HN
Galvanized Washer 4 2 ½” ?? ??
Galvanized Round 2 2” ?? ??
Teflon Tape 1 roll ½” wide Anderson Hardware ?? $1.69
12 Volt radiator fan 1 12” - 14” Auto Part
Rubber Fuel Line 1 24” Auto Part

$16.15

1 Gauge Wire 30” 1 gauge Auto Part ??
1 gauge ring connector 6 1 gauge Auto Part ?? (optional replacement for copper tubing)
Ignition Switch 1
12 V Fan Switch 1
Bolt (Angle iron attach) 4 ½” x 1 ½” x 12 TPI Anderson Hardware

$6.82
Nut (Angle iron attach) 4 ½” x 12 TPI Anderson Hardware
Washer flat 8 ½” Anderson Hardware
Bolt (Engine mount) 4 ¼” x 2” 16 TPI Home Depot

$25.01

Nut (Engine mount) 4 ¼” x 16 TPI Home Depot
Bolt (pump mount) 4 ¾” x 4 ½” x 12 TPI Home Depot
Nut (pump mount) 8 ¾” 12 TPI Home Depot
Washer flat (pump mount) 8 ¾” Home Depot
Lock washer (pump mount) 4 ¾” Home Depot
Bolt (pump mount) 2 7/16" x 1 ½" Home Depot
Nut - Nylon locking (pump mount) 2 7/16" Home Depot
Lock washer (pump mount) 2 7/16" Home Depot
Flat washer 2 7/16" Home Depot
Nut (Oil cooler) 4 3/16" Included with oil cooler
Bolt (Oil cooler) 4 3/16" x 3" Included with oil cooler
Bolt (Solenoid mount) 2
Tractor Enamel: Glossy Black 1 pint
PVC Plug (Leak Test) 3 3/4" Schedule 40 MPT Anderson Hardware

$8.11PVC Plug (Leak Test) 1 1.5" Sched40 FTP Anderson Hardware
Class 8 Bolt 4 5/16" x 1.5" Anderson Hardware

$7.00

Class 8 Washer 8 5/16" Anderson Hardware
Class 8 Nut 4 5/16" Anderson Hardware
Class 8 Lock Washer 8 5/16" Anderson Hardware
Rewire tie 1 lots and lots Home Depot $6.03 temporary gas tank mount

Total Parts $: $1,068.39 $1,394.39

http://SmallEngineSuppliers.com
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-1788-B
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-7290-100
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=928-C
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-4604-16-12
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-4404-16-16
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-1279
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-6405-10-12
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-7957-12
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-5404-12-12
http://monumentalsupply.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-7843-24
http://monumentalsupply.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-7843-12
http://monumentalsupply.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-7843-4
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-059
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-5405-12-16
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-5500-12-12
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-6314
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=455-AA
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=951-2212
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-9232
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-5605-12-12-12
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-2501-12-12
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-2403-12-12
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=9-6505-12-12
http://SurplusCenter.com
https://www.surpluscenter.com/item.asp?catname=&qty=1&item=11-1108


Date Hours Tasks
9/22/2011 1.5 Cut Angle Iron

10/13/2011 1.5 Welding Cube Frame
10/20/2011 1 Welding Cube Frame
11/10/2011 4 Drill 2 holes in Hydraulic Reservoir
11/17/2011 2 Drill last hole in Reservoir
12/1/2011 2.5 TIG flange to standoff tube and tube to tank
12/8/2011 2.5 Weld 2 small Flanges to reservoir 

12/15/2011 2 Fix flange that I welded in upside down
1/30/2012 1 Some endcap welding
2/16/2012 1.5 Learning Torch Table and Cutting Pump plate
2/23/2012 2.5 Welding Reservoir (MIG!)

3/1/2012 3.5 Pressure Test Reservoir, Torch Table, Engine Mounting Plates
4/29/2012 3 Transfer bolt holes onto engine mounting plate & misc (I don't remember)

Total Hours: 28.5


